=ABBEE 7Y b No.2

i ( )

1. [Z7V7—#%10 [EE305]

0<6<2z DL X, ROFER, FERERMIT,

(1) sin260 =cos@ (2) co0s20 =—cosf
(3) cos20 —5cosf +3=0 (4) sin26 <siné
(5) cos260 +9sinf +4<0 (6) cos26 >siné

2. [ZV7—%%¥0 REE306]
0=x<2r D%, BH y=cos2x —2sinx —1 DRAEL B/MEEZ KD X, £/, ZOD
LED x DEERRD &,
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3. [V 7—#=0 &3] 4. [Z7V7—#8%¥10 RHE312]

0=x<2r D%, ROFER, TEREMIT, ROBEOBXEL B/ME, BLUZDL XD x DfE%ERD &,
(1) +/3sinx—cosx=1 (2) sinx++/3cosx=+2 (1) y=—sinx+cosx (0=<x<2x)

(3) sinx=+/3cosx (4) /2(sinx+cosx)>1 (2) y=+6sinx —+/2cosx (0<x<2n)

(3) y=sinx++/3cosx (0=<x=<m)




